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[ experimentl.m Ml experiment.m Ml expImatrices.m )ﬂtl expd.m

- t=0:pi/f100:2*pi;
y=sin(t)
plot(t,¥)
xlakel{'t")
ylabel("sin(c) ')
ticle('The plot
y2=gin(t-0.25):
yv3=sgin(c+0.25);
hold on;
plot(t,v,C,v2,C,v3)

of ¢t v sin(c) ")

W ] e W e W M

1)
12

Command Window

o - - —
mment % %z %3 Breakpoints Run Run and @, D Run and
Indent ~ =~ Advance Time

EDIT BREAKPOINTS RUN

=

legend('sin(c) ', "sin(c-0.25) ", "sin(c+0.25",1)
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The plot of t vs sin(t)
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[ experiment].m xl experiment2.m Xl exp3matrices.m Xl expd.m

t=0:pi/100:2%pi;

y==sin(t)

plotit, ¥}

xlabel('tT")

ylabel('sinic) ')

title('The plot of t vs =in(t)")
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[ experiment].m Eﬁl experiment2.m Eﬁ| exp3matrices.m ?ﬂl +]

1- A= [1 1 -1; 1 -2 3; 2 3 2];
2 - B= [4: -&6; T]:
3 - x=inv (2) *B
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[ experimentl.m Bﬁl experiment2.m Bﬁl exp3matrices.m Bﬂl expd.m X‘l calc.m Bﬂ_l hw.m ?-":l + ]

1- z=polyval([l 3 -100 54.286 1 3 €],6)
2 - roots([1 3 -100 54,286 1 3 &1)
3
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-4.T7830=+04
ans =
-11.835% + 0.00001
8.2813 + 0.00001
0.763% + 0.00001
-0.3783 + 0.00001
0.0845 + 0.4524i
0.0845 - 0.4524i
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I|= A=[1 1 1; 1 -1 1; 1 2 -17:
2 - B=[6: 2: 2]1:
2= ¥=inv (L) *E
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- xlabel('sin(t) ")

- vlabel ('sin and cos (t)') K:IBH\Q|@9|D|E| k@

- title ('The plot of sin(t) ws cos(t)') The plot of sin(t] Vs ODS[t]

- r.=ClEpi/lOCl:2*pi; 1 /.,\\
- y=sin(t); A
= z=cos (t) 0.8 / \
= x=(cos(t))."2; /
- hold on; s
- plot(t,v,t,2, T, %) 0.4
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- x=[1 3 -15 -2 9]

- v=[1 000 1]

- z=polyval ([1L 0 O O 1],2)

= roots([1 3 -15 -2 9]}
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